8¥:6 €C0TTIII

$TATY% ET0T=RUOZaS29 [ -WQ [ N-SN=BUIANNS2P]A 9 | [)-S1=Z9IN0S,/ZINOS/SZIIN0S/Z JAI MMmM//:sd1ny

(02 ¥2) TURBSHANS 0:¢ 'S 10]040 [eqf3|OA
(L9 'SZ 1UeY0[Y - §Y [eqfajoA 0:¢ RO MA
(oLgg LL) 04SIEAOLEY YA 1-¢ TURSHANS
(eL'1z'0z) 'SZ1uexojy - §¥ [eqf30A L:¢ 57 “A0|0X0S [eqfR|oA
(01-*11-'12) 04SIenojey YA ¢l AT HA
(8g1-12) TUBSHANS 1:2 'SZ IUB)O[Y - $Y [eqfajoA
(ge-"11) OYSIEADLIEY NA ¢-0 'SZ10|0}0S [eqfa|op
(€z-22) ROHAILHA ¢:0 TURSHANS
(1z %) 'SZUBO[Y - $Y [Bqf8[oA 0:¢ 04SIEAOLIEN YA
(1 12) 57 “\0|0X0S [2qf|oA 0:¢ RO HA
0104 1

Iz1

XO0JoIl]



